

Vendor Ranking Page 1 c								
Letting:	05200901	September 01, 2020 2:00 PM	Call Order	: 006	Contract:	E5V51		
District:	District 5		Counties:	BREVARD, DIST/ST-	Fed Aid No	: N/A		
Contract Time:	365 CALENDAR DAYS			WIDE, ORANGE,	Project(s):	44400217202 (*)		
Contract Desc:	Desc: Drainage Repair: Desilt & Video and Pipe Lining			VOLUSIA				

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	COASTAL GUNITE CONSTRUCTION COMPANY	Responsive	Winning bid	\$394,373.00	100.00%
2	FLOTECH ENVIRONMENTAL LLC	Responsive	Non-Winning Bid	\$444,025.00	112.59%
3	ATLANTIC PIPE SERVICES, LLC	Responsive	Non-Winning Bid	\$489,380.00	124.09%
4	HORMAC CONSTRUCTION GROUP, INC.	Responsive	Non-Winning Bid	\$535,090.00	135.68%
5	EVANS CONTRACTING SERVICES, INC	Responsive	Non-Winning Bid	\$557,650.00	141.40%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids Page 1									
Letting:	05200901	September 01, 2020	Call Order:	006	Contract:	E5V51			
District:	District 5		Counties:	BREVARD, DIST/ST- WIDE, ORANGE,	Fed Aid No:				
Contract Time:	365 CALEN	DAR DAYS			Project(s):	44400217202 (*)			
Contract Descr: .FDOT District 5 Proposal ID No.: E Financial Project N Fiscal Year: 2021 Counties: Brevard, Calendar Days: 36	5V51 Io.: 444002-1-7 , Volusia, Oran		e Lining	VOLUSIA					

This is Maintenance Work Document driven Contract with a budgetary ceiling of \$600,000.

Intent:

The work under this Contract includes desilting, video, and pipe lining of storm water pipes in various roadways in Brevard, Volusia, and Orange Counties.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdiprojects.html

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the projects major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the Expedite application.

BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashiers Check, the BDI Bid or



#### 09/11/2020

### **Tabulation of Bids**

Page 2 of 6

 Letting:
 05200901
 September 01, 2020
 Call Order:
 006
 Contract:
 E5V51

Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

### Note:

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work

	No / Item ID	Alternate	Quantity Units	(1) COASTA CONSTRUCTIC		(2) FLO ENVIRONME			PIPE SERVICES, LC
	dicates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (	CLEAN DRAIN		ES (LF				
0005 DESILT	E430 94 1 PIPE, 0 to 24"		23,000.000 LF	1.04000	23,920.00	3.00000	69,000.00	2.85000	65,550.00
0010 DESILT	E430 94 2 PIPE, 25-36"		10,900.000 LF	2.47000	26,923.00	3.75000	40,875.00	4.00000	43,600.00
0015 DESILT	E430 94 3 PIPE, 37-48"		850.000 LF	5.00000	4,250.00	8.00000	6,800.00	6.00000	5,100.00
0020 DESILT	E430 94 4 PIPE, 49-60"		150.000 LF	9.00000	1,350.00	10.00000	1,500.00	9.00000	1,350.00
0025 DESILT	E430 94 5 PIPE, 61" OR	GREATER	100.000 LF	17.00000	1,700.00	18.00000	1,800.00	14.00000	1,400.00
0030 PIPE LI	E431 1 21 NER, CURED I	N PLACE, 0-24"	500.000 , LF	95.00000	47,500.00	95.00000	47,500.00	127.00000	63,500.00



Tabulation of Bids

Page 3 of 6

Letting:	05200901 8	September 01,	2020 <b>Cal</b>	l Order: 006		Contract:	E5V51	
	o / Item ID Alternate escription	Quantity Units	(1) COASTA CONSTRUCTIO		(2) FLO ENVIRONME			PIPE SERVICES, LC
() indica	ates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
:	SECTION: 0001	(CLEAN DRAIN	AGE STRUCTUR	ES (LF				
	431 1 22 R, CURED IN PLACE, 25-3	300.000 6" LF	160.00000	48,000.00	170.00000	51,000.00	167.00000	50,100.00
	431 1 23 R, CURED IN PLACE, 37-4	200.000 8" LF	253.00000	50,600.00	230.00000	46,000.00	285.40000	57,080.00
	431 1 24 R, CURED IN PLACE, 49-6	150.000 0" LF	379.00000	56,850.00	445.00000	66,750.00	590.00000	88,500.00
	431 1 25 R, CURED IN PLACE, 61" A	100.000 AND LF	400.00000	40,000.00	600.00000	60,000.00	780.00000	78,000.00
	432 4 EWER INSPECTION (VIDE	35,200.000 O LF	2.65000	93,280.00	1.50000	52,800.00	1.00000	35,200.00
00	001 CLEAN DRAINAGE Se STRUCTURES (LF)	ction Totals:	'	\$394,373.00		\$444,025.00		\$489,380.00

**Contract Grand Totals:** 

\$394,373.00

\$444,025.00

00

489,380.00



## Tabulation of Bids

Page 4 of 6

Letting: 05200901	September 01,	2020 <b>Ca</b>	Il Order: 006		Contract:	E5V51	
Line No / Item ID Alternat	e Quantity Units	(4) HORMAC CO GROUE		(5) EVANS CO SERVICI			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(CLEAN DRAIN	NAGE STRUCTUR	ES (LF				
0005 E430 94 1 DESILT PIPE, 0 to 24"	23,000.000 LF	4.50000	103,500.00	6.00000	138,000.00		
0010 E430 94 2 DESILT PIPE, 25-36"	10,900.000 LF	5.00000	54,500.00	10.00000	109,000.00		
0015 E430 94 3 DESILT PIPE, 37-48"	850.000 LF	15.00000	12,750.00	15.00000	12,750.00		
0020 E430 94 4 DESILT PIPE, 49-60"	150.000 LF	30.00000	4,500.00	25.00000	3,750.00		
0025 E430 94 5 DESILT PIPE, 61" OR GREATER	100.000 LF	40.00000	4,000.00	50.00000	5,000.00		
0030 E431 1 21 PIPE LINER, CURED IN PLACE, 0-2	500.000 24" LF	90.00000	45,000.00	80.00000	40,000.00		
0035 E431 1 22 PIPE LINER, CURED IN PLACE, 25	300.000 -36" LF	128.00000	38,400.00	125.00000	37,500.00		
0040 E431 1 23 PIPE LINER, CURED IN PLACE, 37	200.000 -48" LF	225.00000	45,000.00	225.00000	45,000.00		
0045 E431 1 24 PIPE LINER, CURED IN PLACE, 49	150.000 -60" LF	400.00000	60,000.00	325.00000	48,750.00		



# Tabulation of Bids

Page 5 of 6

Letting	g:	05200901	September 01,	2020 <b>Ca</b>	I Order: 006		Contract:	E5V51	
	No / Item ID		te Quantity Units	(4) HORMAC CO GROUI		(5) EVANS CO SERVICI			
( ) inc	dicates item is	bid as Lump Sum	ו	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION	: 0001	(CLEAN DRAIN	NAGE STRUCTUR	ES (LF				
0050 PIPE LII GREATI	,	D IN PLACE, 61	100.000 " AND LF	900.00000	90,000.00	475.00000	47,500.00		
0055 STORM CAMER		SPECTION (VIE	35,200.000 DEO LF	2.20000	77,440.00	2.00000	70,400.00		
		N DRAINAGE CTURES (LF)	Section Totals:	1	\$535,090.00		\$557,650.00		

|--|



Page 6 of 6

Letting:	05200901	September 01, 2020	Call Order: 006	Contract:	E5V51
		120.57(3), Florida required by law wit	le a protest within the time prescribed in s Statutes, or failure to post the bond or oth hin the time allowed for filing a bond shall dings under chapter 120, Florida Statutes	er security constitute	